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QUESTION 1

You split a message, modify the split message, merge the split message and send in a single message via a Web
Service. What are the steps to accomplish this? 

A. 1. Split 

2. SEND 

B. 1. Split * 

2.

 Join 

3.

 Gather 

4.

 SEND 

C. 1. Split 

2.

 Aggregation 

3.

 Join 

4.

 SEND 

D. 1. Split * 

2.

 Multicast 

3.

 Aggregator 

4.

 send 

Correct Answer: B 
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QUESTION 2

What authentication method is used with the Monitoring API? 

A. Two-factor authentication 

B. Basic authentication 

C. Single-on (SSO) 

D. OAuth 2 

Correct Answer: B 

 

QUESTION 3

In SAP Cloud Integration, what do you use to modify a message body? Note: There are 2 correct answers to this
question. 

A. Mapping 

B. Content Modifier 

C. Groovy Script 

D. Python 

Correct Answer: BC 

 

QUESTION 4

Which transport and message protocols are used with an inbound IDoc adapter? 

A. tRFC and IDoc 

B. HTTP(s) and SOAP 

C. tRFC and SOAP 

D. HTTP(s) and IDoc 

Correct Answer: D 

 

QUESTION 5

Why are Message Implementation Guidelines (MIGs) focused on semantics? Note: There are 2 correct answers to this
question. 

A. To understand the meaning and properties of customized interface elements in a given business context 

B. To improve translation of data objects 
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C. To understand how information is used in different scenarios and business domains 

D. To improve internationalization of data elements 

Correct Answer: AC 

C_CPI_14 PDF Dumps C_CPI_14 Practice Test C_CPI_14 Exam Questions

Powered by TCPDF (www.tcpdf.org)

C_CPI_14 PDF Dumps | C_CPI_14 Practice Test | C_CPI_14 Exam Questions                                4 / 4

https://www.geekcert.com/c_cpi_14.html
https://www.geekcert.com/c_cpi_14.html
https://www.geekcert.com/c_cpi_14.html
http://www.tcpdf.org
https://www.geekcert.com/c_cpi_14.html
https://www.geekcert.com/c_cpi_14.html
https://www.geekcert.com/c_cpi_14.html

